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The student is required to answer both questions. Both questions can be answered without graphs and/or formulas; however they are appreciated by the lecturers. Each question receives a mark between 0 and 15. The sum of the two partial scores gives the final score. An exam is passed when the student obtains at least 18 points. The students are requested to write a “good hand”; otherwise the test will not be corrected.

1.a) Which are the main reasons supporting public financing of education

1.b) Which are the main reasons supporting public provision of educaton

1.c) Which are the conditions under which increasing the choice possibilities in education may yield an increase in resource efficiency in producing education.
2) A researcher is interested in the return to higher education with respect to individuals with only secondary schooling. In order to evaluate this return she used ordinary least squares (OLS) to estimate the following linear specification: 

Y = a0 + a1 HIGHER EDUCATION + a2 CENTER + a3 SOUTH + a4 FEMALE + e

Where 

Y = gross monthly labour income in euros;

HIGHER EDUCATION = dummy variable = 1 if an individual has higher education and zero otherwise;

CENTER = dummy variable = 1 if an individual lives in the CENTER of Italy and zero otherwise;

SOUTH = dummy variable = 1 if an individual lives in the SOUTH of Italy and zero otherwise;

FEMALE = dummy variable = 1 if individual is female and zero otherwise;

e = error term.

The estimation sample is represented by individuals with at least a secondary school diploma. (Hint: individuals can live in the NORTH, in the CENTER or in the SOUTH, they can be MALES or FEMALES and they can have either SECONDARY SCHOOLING or HIGHER EDUCATION).

The researcher obtained the following results from OLS estimation:

	Variable
	Coefficient
	P-value

	Constant (a0)
	1000
	0.005

	HIGHER EDUCATION (a1)
	650
	0.001

	CENTER (a2)
	-100
	0.2

	SOUTH (a3)
	-200
	0.01

	FEMALE (a4)
	-150
	0.05

	R2
	30%


The same researcher used an IV estimator and found the following results:

	Variable
	Coefficient
	P-value

	Constant (a0)
	999
	0.004

	HIGHER EDUCATION (a1)
	750
	0.002

	CENTER (a2)
	-101
	0.19

	SOUTH (a3)
	-202
	0.01

	FEMALE (a4)
	-155
	0.05


Answer the following questions:

1) Which variables are significantly correlated with labour income at least at the 5% statistical level in the OLS estimation? Which could be the reasons for these correlations?

2) Which other variables do you think should be included in the regression?

3) Why the researcher also used an IV estimator?

4) The researcher used as an instrument the distance between the individual’s residence and the closest college. What is an instrument? Is college distance likely to be a good instrument? Why? Can you suggest other, possibly better, instruments?

5) Comment on the difference of the estimate of a1 between OLS and IV. Why might they be different?

